CenLANA ASC Meeting

Central Louisiana Area of Narcotics Anonymous Area Service Meeting

Meeting convened at 12:10 pm on 5-17-2025

Erica C. opened the meeting with a moment of silence followed by the Serenity Prayer. Dustin read the 12 Traditions and Frank read the 12 Concepts.

Administrative Service Committee

Chairperson- Ashley CW
Vice Chair- Erica C.

Treasurer- Ashley CW
Absent
Secretary- Daniella P.

ASR- Doug F
ASRA- Davis H (interim)
Absent

Subcommittees

H & I- Robbie L.

PR- Robbie L.

Literature- Doug/Karen

Policy- Karen F.

Activities - Dani P

Present

Present

Present

Group Service Representatives

Group		Voting	Host
Clean & Serene	Daniella	Yes	July
No Matter What	Davis H	Yes	Aug
Talking Heads	Doug F.	Yes	Sept
New Life Group	John P.	No	Jun

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve the report. (Accepted with corrections noted).

Treasurer's Report: Read by (Robbie L)

Monthly Deposits: \$

Bank Balance: \$1139.05

Previous Balance \$989.05

Checks Outstanding: \$+150.00

Other : \$-

Available Balance: \$1139.05 to match bank balance

Available Balance: \$989.05 actual avail bal minus checks

Money Set Aside: \$710.00-

Working Balance: \$429.05

ASR Report: Read by Doug F. (emailed)

Subcommittee Reports:

H & I: Robbie read the report (report attached)

Public Relations: Robbie read the report (report attached)

Literature: Karen/Doug read the report (report attached)

Policy: Karen read the report (report attached)

Activities: Dani (interim) read the report (report attached)

GSR Reports:

Clean & Serene: Daniella. read the report (report attached)

No Matter What: Davis H. (robbie) read the report (report attached)

Talking Heads: Doug F . read the report (report attached)

New Life: John P abs w/ report (read by robbie) (report attached)

Keep It Real: John P read the report (no report attached)

Old Business: Area will supply IPs to Treatment centers in 3 mo. or so using 7th tradition \$. Nominations: Pam ASRA/ASR (Davis - ASRA) // Lori - Vice Chair // Ashley - Treasurer // Dani - Secretary & activities // Robbie - H&I and PR // Doug/Karen - Literature // Karen - Policy

New Business: No new business.

Elections: Chair - Erica, Vice Chair - Lori // (waived policy to do a few phone call votes), Treasurer - Ashley CW, ASR - Pam, Activities/Secretary - Dani, ASRA - OPEN, H&I/PR - Robbie L, Literature - Doug, Policy - Karen

Announcements: (LC) 2nd weekend in July - Region // May 31st - 10 Celebrants & Party at Champion Recovery, Live Band, Food, Speakers // 5 Meetings A week at noon @ Champion Recovery // Need H&I members, 3 MO to join, 6 MO to carry message // Convention in BR May 23rd-25th // July 4th Activity (Flyer coming soon) // June 21st New Life Group Hosting Area.

Next Area: 6/21/2025 Hosted By: New Life Group

Final Treasurer's Report:

Presented & read by: Robbie L

Previous Balance: \$989.05
Donations/Other: \$102.13
Checks Written: \$-25.00
Available Balance: \$1066.18
Money Set Aside: \$710.00Working Balance: \$356.18

20% to RSC: \$
Working Balance: \$

Available Balance: \$ 356.18

Motion made to accept the final Treasurer's Report. All in favor. Motion to close, all in favor The meeting adjourned at 1:20 pm.

Central Area

Treasurer's Report		<u>05/17/2025</u>
Monthly Deposit	\$122.15	
Current Bank Balance	\$1,139.05	05-15-25
Previous Available Ending Balance	\$989.05	04-19-25
Outstanding Checks:		
Outstanding checks total	\$150.00	
Avail Balance	\$1,139.05	05-15-25
Subtract outstanding checks	\$150.00-	
Actual Available Balance:	\$989.05	05-15-25
Money Set Aside:		
Prudent Reserve	\$150.00-	
Activities	\$250.00-	
H&I	\$50.00-	
P.R.	\$30.00-	
Secretary	\$30.00-	
RSC Travel	\$200.00-	
Total Money Set Aside	\$710.00-	
Total Working Balance	\$429.05	05-15-25



(no subject)

1 message

Douglas Fearon <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Sun, Jun 15, 2025 at 7:20 PM

ASR REPORT Doug F

My name is Doug and I'm an addict. Nothing has changed from the last report from last area. Next region will be in Lake Charles the second weekend of July. The convention is the last weekend in May, memorial weekend. Never got the minutes from region but they will be available soon. The next convention will be in New Orleans next year. Registration for this convention is available now. Thanks for letting me serve this past year.

Thanks, Doug

H & I May Report

H&I is still serving 3 facilities with 4 H&I meetings.

Erica is the new Panel leader for Edgefield.

Thanks for letting me serve, Robbie L

PR has updated the meeting list.

We will be printing new meeting list once the list has been re-formatted.

Still need to put up IP racks at the treatment centers.

Thanks for letting me serve, Robbie L

inventory Totals Rep	port					
				Invoice		
Date Totaled:						
Item	Quantity Sold		Cost	Total Cost	Person/Group	Date
Basic Text		\$	14.00			
Guiding Principles		\$	14.00			
It Works How & Why		\$	12.00			
Just For Today Meditation		\$	12.00			
Living Clean		\$	12.00			
Step Working Guide		\$	11.00			
NA White Book		\$	2.00			
Totals:						
Tag / Medallion / Chi	р					
Tags						
White		\$	0.65			
30Day		\$	0.65			
60Day		\$	0.65			
90Day		\$	0.65			
6Months		\$	0.65			
9Months		\$	0.65			
1Year		\$	0.65			
18Months		\$	0.65			
Muliple Years		\$	0.65			
Chips						
White		\$	0.50			
Medallion		\$	5.00			
	1	-				
	7.19					
Grand Total:						

Date:													
ltem	Quantity	Cost		Car	st Total	Calc	Price	Cal	es Total	Cast			
Basic Text		\$	12.15	\$	48.60	S	14.00	\$	56.00	<u> </u>	•		
Guiding Principle	3	\$	11.65	S S	34.95	\$	14.00	\$	42.00	On Ha	and	\$	
It Works How &		\$	9.55	\$	28.65	\$	12.00	\$	36.00	V		•	
Living Clean	2	\$	10.35	\$	20.70	\$	12.00	\$	24,00	Litera	ture Sold	\$	30.00
Just for Today N		\$	9.55	\$	19.10	\$	12.00	\$	24.00	2.0.0		Ť	
Step Working G		\$	9.00	\$	45.00	\$	11.00	\$	55.00	Recie	vina	\$	
NA White Book	24	\$	0.80	\$	19,20	\$	2.00	\$	48.00		· · · · · · · · · · · ·	•	
Totals:		Ψ	0.00	\$	216.20	Ψ		\$	285.00	Turni	na in	\$	30.00
IUldis.					210.20			Ψ	200.00			_	
Tag / Medalli	on / Chin									Snec	al Orders		
Tags	l cinb	Γ -				-		·			on Hand	\$	
White	45	\$	0.56	\$	25.20	\$	0.65	\$	29.25	1000			
30Day	29	\$	0.56	\$	16.24	\$	0.65	\$	18.85				
60Day	25	\$	0.56	\$	14.00	s	0.65	\$	16.25				
90Day	40	_	0.56	\$	22.40	\$	0.65	\$	26.00				
6Months	22	\$	0.56	\$	12.32	\$	0.65	\$	14.30				
9Months	25	-	0.56	\$	14.00	\$	0.65	\$	16.25				
1Year	54	\$	0.56	\$	30.24	\$	0.65	\$	35,10				
18Months	14	_	0.56	\$	7.84	\$	0.65	\$	9.10				
2+ Years B&G	10		0.56	\$	5.60	\$	0.65	\$	6.50				
Chips						S							
White	0	\$	0.40	\$		\$	0.50	\$	2 Y Y Y Y				
				7									
Medallion	15	\$	3.40	\$	51.00	\$	5.00	\$	75.00				
Totals:				\$	198.84			\$	246.60				
Sub Totals:				\$	415.04			\$	531.60				
I.P. Purchase			-										
I.P. Purchase													

ate	Who	Contact Info	Item	Quantity	Price	Total	Date Recived
					-		
						-	
						in the second	
					-		

Activities 5.17.25

Hello Family,

(neluding

Dur Crawfish Boil Fundraiser went well.

We were given 1285.00 in seed money. We had 2 treatment anters show up - we work donated the money for the treatment centers by people in our strea. We sold about LeO trickets and some people got crawfish of the event. The turnout was decent to an happy with the turn out, it was better than 1 expected. We turned in \$11,108.00 total leaving our profit to about \$1230. The speaker was great at I think we had a great time. It am brainstorming possible upcoming events. If of July of a summer event. Thank you all for your heap!

Lepm-until
Potluck, Speakers (Dani + Esica)
Mtg at 1 pm
Fireworks after may
50/50 racker
6th donakon (suggested)

Will ask for & if needed dose to event.

Clear & Serre May Area 5.17.25

Hello Family,

Clean & Seren is doing well.

We still hold meeting 5 avery sunday right at 7pm here at River City Clubhouse.

We have an average of 15-20 attendes per meeting and we have I now member. We have an area amountion of 500. Jarres celebrates 7 years on May 18th and I (Dani) velebrates.

Typars on June 1st. Thank you for ollowing me to continue to sure.

9 Daii GBK No Matter what May Report

No Matter what is still having meetings on Thursdays @7. we have no birthdays we are averaging 7 people per meeting we have an area donation of \$29.

Thanks for letting me serve, Robbie L GSRA



Reprt

1 message

Douglas Fearon <dfearon56@gmail.com>
To: daniella price <pdaniella100@gmail.com>

Sat, Jun 14, 2025 at 8:45 PM

GSR REPORT TALKING HEADS DOUG F GSR

My name is Doug and I'm an addict. We still have two meetings a week Tuesday Book study and Fridays open discussion. I giving was giving money to buy pizza and give the rest to area. Enjoy the pizzas.

Doug F

Hello family way Blank Is John for I'm Representing New life and Koep It Real of Center group. Group are in Wood of Support, Now life has a Event May 31 with fun food following 50/60 rahfter and Door Prizes and Life Band. I have a 10 donations for both group John P. Scrubny